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Answer All questions 

~mcfi~~ 

I. f~'"'if~f€1(1 -q "B ~ "ffi';r Cfft w~ cnlf\lll{ : 

Join any three of the foll9wing words : Jx2=6 

l=@ + ~:, ~m + ~/ ~ + fi:«L \m + ~:, "N + am, ft:«:[_ + ~/ 

m + ~:, ·~ + 3lf4 

P.T.O. 



' ;.· 

( 2 ) 

Disjoin any two of the following words : 

Write compound-forms of any three of the following words : 

Dissolve any two of the following : 

Write an essay in Sanskrit on any one of the topics given below : 

330 

2x2=4 

3x2=6 

2x2=4 
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.• 
Define and illustrate any two of the following metres : 2x4=8 

. 
~~,W~I 

7. f.:p:rjf~f€JC1 if ~ ~ ~ if ~101f1~~~ ~. SQ: ~- Cf;l ";f11l ~ 

Scan and name the metres in any two of the following verses : 2x2=4 

~~ ~ <fc~SIC1C(1: 

m ~ ~11f1iq ~: 11 

P.T.O. 



( 4 ) 330 

Define and illustrate any two of the following figures of speech : 2x4=8 

Identify and explain the figures of speech used in any two ofthe following verses: 2x2=4 
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10. F1Cif<:1f@d ~ ~,Qi~n -q ~ ~ ~ Cffi ~ ~ ~ 'WilT -q ~ 

. Ch1f\51~ : 

Translate any one of the following unseen passages into Hindi or English : 6 

ct>ff4f~ ~ lit?l~g{i:hl ";flll ~: ~ I 'fft:r Cf>~lf-i:l&, ~ ~li!id: Tf'jf: 

~: I ~: nflf :qfuf: \Tlifu, ~ m:q q;fcRj. ~ ~ -;; ~lcAlM I -31?.f a:r;r ~ 

~(1~(1: fcfiHi t:nf~ ~: rlcf ~ 31111~ 1 31~ ~ 3WRf ~ ~: .fffct1lf1{ 

~ - ";qlf41; a:ffl" OCf ~:, ~ ~ ~ \~' I ({ ~ ~: qGffi -

u .. ll\.:,. -;:mrn --~ ~ ~ f1 '' ~I "~ ' ~~., ~\I \Jllq @I~P"1 I 

~!OR 

~~ cR Cb{l<?l~~(l ~ ~: cmfu ~ I ~ ~ ~ -;utf WJR1: ~ 3ljlfl~f 

qf<:qHCf>: ~ ~ I 31~ Cf>~lf.qq_·~ ~ ~ ~QILfHW ~ ~: ~: · 

\H:wtldl: I iFf ~ 31fii ~ ~·-;; ~t<:Fflfd I O{lT 3'1~(?111(( ~ ~: ~~141fsd: 

~4~ -rrn: 1 3i~f~i "fu:cm ~: ~ ;qlf'"'it ,s~ 41fsffi~ 1 q~"'fi:l ~ 

1 ~tcHlflO! I "ffit ~?:j OCf W=fl tliflfi:r ? 

Answer any five questions on the basis of the passage given below : 5 

Cf>~tUUI~i\ ct>ff.q~ ~ !>lq~fd ~ I 1~1~ift ~: fi'"lflfi1 ~F.iidi: W crnfu ~ I 

~ -8'"lft41 -;:roT: am mi ~ ~ ~ 3il~i<st'i 1 ~= 11fC1Cfi ~f<:qli- aW:J 

P.TO. 
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31q ~ ~ ~ li~'l'CI I ~ ~ ~ 311Cffi: 3Wffi: I 11fqCfl: ~ ~ 

311\'ffi I ~: fi~1fu1q_ ~ISlql"t_ - 31ftr ·~ \iiHI'r*i 7 fi~r<m ~ - ·o;:r ~ I 

1'1fcrcf;: 31Cfi~ - ~ ~ oq ~ ~ 1 ISlf'"lfu I 
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